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����� 20cm ���������� "!�#�$&%('�)+*�,�-/.10�2431576��984: � 15.12 kg 6<;�=�)/>@?�)�.A,
�1#7$9B�CEDGF@)IH 10.80 kg *KJ<=�)L>M,L��#N�PO<Q<R w .�0�21SNT ρt .�0�27U/V7��W�X<: γt .1B
C�S<T ρd .9B�C�U/V���W<X4: γd $9Y�ZN[�Z�\7'�]^>AJL_�.KS<T7��UPV"` t/m3 .�UPV���W<X4:N��UPV
` kN/m3 6�a1F�>
bdcfe

ONQ4Rhg
w =

mw

ms

=
m − ms

ms

=
15.12 − 10.08

10.08
= 0.400 ≡ 40.0 (%)

#<����Wi`�.
V = 0.203 = 8.0 × 10−3 (m3)

012�SNTjg ( 8N:A$lknm96�a1oqpsr�t�u�> )

ρt =
m

V
=

15.12 × 10−3

8.0 × 10−3
= 1.89 (t/m3)

012@U/V���WNXN:vg
γt = ρt · g = 1.89 × 9.8 = 18.52 (kN/m3)

B�C1SNTjg
ρd =

ms

V
=

10.80 × 10−3

8.0 × 10−3
= 1.35 (t/m3)

B�C7U/V���WNXN:vg
γd = ρd · g = 1.35 × 9.8 = 13.23 (kN/m3)
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U9V"�<yKz+$|{�}N~��4,7* : 8N:M*GXN:
1 t = 1000 kg ≡ 9800 N = 9.8 kN

wMx
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(1) U/VN�NuA!�yKzN~+�4,7* ���<��� .N�4� �P����� *&J4=1)+��� �I� !P���^�A?L�A`����(�9�1��*
p�r�.LQA�&SNT�g ρw=1.0 t/m3 .�U9V���WNX<:�g γw=9.8 kN/m3 $/�(��r�_",����1#<�&S�TA`/012A6
Q@� 1.5 � 2 ��.9B�C769Q7� 1 � 1.5 ��T7�7,�* ��� � .�#P¡N¢�S<T ρs $s£��4��,�*|`/¤�¥@;�¦¨§(J � �©�ª ;I¦«§iJ � � ��¬ r­pK?<=1)+*9®�.�,KZ"$ ” _�¯­p � !” * °�±E��,@*&`L²4³�´�!"*P=�r�µ4¶4XN·
J�¸"mL��6N;��9�

(2) ¹�º1»�¼N64`�.�½4¾�¿�ÀA`P��� ( Á�� ) 69a1~+,�*s�PÂ<t�Ã<!P»���Ä�X1Å�Æ<Ç1T g, ÈKÉ4Ê π JiË �
� � )�3�576N`�.NÌ�Í|Îl¦^�LÏ�Ð7¯IHÒÑ(®/Ó­DÔZ�r­p�?����


